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SIS

EH

2AM -3 . H2(3H) - MFA - BES O &k J| &N Hns2
AYSLT| 21D} 2,165,326 2,216,642 A51,316
= 231,678 231,678 0
[ 57,920 57,920 0
Al 1,875,728 1,927,044 A51,316
JIEMEEH 2,081,075 2,144,838 63,763
= 174,235 174,235 0
[ 43,559 43,559 0
Al 1,863,281 1,927,044 63,763
HASZ 2K (A230HIIZELIAH) 2,081,075 2,144,833 63,763
= 174,235 174,235 0
[= 43,559 43,559 0
Al 1,863,281 1,927,044 63,763
OIZZHAXIHHMABAASZ(ZZH|HEZ S) 1,863,281 1,927,044 63,763
802 BtEt= DIt 57,737 121,500 163,763
01 2DBXRZEZ 4,019 40,000 135,981
WMZNEXZ RISHAN Bt Z2X4,019,0002 4,019 40,000 135,981
02 Al - SHIEZZ28ta2 1,005 10,000 28,99
mMETHSXZ A Bt 21,005,000 1,005 10,000 /8,995
03 JIEtEtE 2 S 52,713 71,500 N18,787
moI2S0f RHOISSE 124 o
ZA49,213,000 49,213 68,000 N18,787
UM SHAH|(AMEX ) 84,251 71,804 12,447
= 57,443 57,443 0
[= 14,361 14,361 0
Al 12,447 0 12,447
OIHARAH|(22HIISE LI H) 84,251 71,804 12,447
= 57,443 57,443 0
[= 14,361 14,361 0
Al 12,447 0 12,447
OI2ZHZA2IAF QIAHI(XHAI) 12,447 0 12,447
101 Q1 4H| 10,595 0 10,595
03 BRE(INH L) 2224 10,595 0 10,595
WEEH ME BLE 0I2AH| 2EE
441, 45024 2B+ 122 10,595 0 10,595
304 ABRE2E 1,852 0 1,852
01 2RE= 128 0 128
mOZSHRARIA HERHZ 2=
128,000 128 128
02 2PIAHAEE2 800 800
ERS0A2IA 22ALBEHS 2=
800,000 800 800
04 222(2IHeH) 22N DSBS ES2S 924 924
W20 RA2IAL DSR2 S 252
924,000 924 0 924




0228 =& 1 3] JIBAERE7E SE3AH A

SA SAHED
Ha: J|BAlERERe S 2
CHol: DIPAlERETS SHalN SY(DIBALRSTY SHaH) (SHol: )
2N - 3 - S(3H) - MRAY - BES Ol &FoH JIEH Hws2
SAIE D 423,204 441,720 A18,516
BN ERg R S 29 423,204 441,720 ~18,516
JIBIA SRS RN SHEH 28 (Il ERE 2 423,204 441,720 ~18,516
S=3)
Il S Rg R SHs)| 29 423,204 441,720 A18,516
401 AI28IZ RO 412,952 427,320 ~14,368
01 Al=g| 412,962 427,320 A14,368
WASAX U TAHECR W
2412,952, 0002 412,952 427,320 ~14,368
801 0/t | 250 4,400 ~4,148
01 EroulY| 252 4,400 4,148
CEECEITT 252,0002 252 4,400 A4, 148
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202285 =& 1 2 UHHHOIM & 202X OHLAIY SE3AH A
A SAIHED
T CADHYY
chel: ZAIE OIXM(SE3A) (CHUHOI™ & 202X WA S ?A
S - BB - B9I(31) - HIRAY - BAS plE-L! 2
S A= 1,549,397 1,521,200 28,
SADNE 1,549,397 1,521,200 28,
A& OIM(SE3/H) (CHHHOIE & Z0{E X LA ,549,397 ,521,200 28,
H3lA)
A4 0I& ,549,397 ,521,200 28,
401 AlZHIZLSOHY] ,549,397 ,521,200 28,
01 Al&HI 328,197 300,000 28,
ECHCHOIE & 2012 X JHEALS
2 H328, 197,000 328,197 300,000 28,
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SN AED
Hal: e=mowy
EH9l: S=TERIM(SYE]) (M) (SeFAlY SE3IH) (Sl &)
S - EB - ERI(SH) - AIRAY - BES o1&y pE-L bl DS
AED} 2,149,347 1,839,441 309,906
=zawy 1,462,941 1,109,441 353,500
=zeis (SEE]) (A (S0I=A) S25]) 1,462,941 1,109,441 353,500
NEEEEET 1,445,401 1,001,901 353,500
201 UBr2y| 60,264 56,764 3,500
01 AFR 22l 18,264 14,764 3,500
CEEER=T] 18,264 14,764 3,500
OOHIE Pl (haaa2
21748, 00,0002 8,000 4,500 3,500
80 BHek2 |t 1,348,450 998,450 350,000
03 JIEIE=S 1,348,450 998,450 350,000
WRDIZ2AGFY AWLED FA D265
CH) 2173650,000, 0002 650,000 300,000 350,000
HPES (A=) 686,406 730,000 £43,504
LIS KI S (20 F2ALe SEis]H) 686,406 730,000 £43,504
SHMIOIIIS(SHHT) K2 686,406 730,000 £43,5%
704 0IEF2 686,406 730,000 £43,5%
01 0IES 686,406 730,000 £43,5%
WSSTHHFEIIZ OIS
2174686, 406, 0002! 686,406 730,000 £43,504
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20229% =& 1 3 HIISH2AIZAIEIIEISESIH &X|

2l HWRAHHXIS(HDISH2IAIZAIEIIEISESIH) (9 &)
A - ZH - SRA(ZH) - HIRAY - BES Ofl &4 IEH Hlusz

A2 =gt 22,540 6,453 16,087

MR ES (A2 E=2tt) 22,540 6,453 16,087

LHEHHXIE(HO ISl AIE AL EFSESIH) 22,540 6,453 16,087

SENHLHIPIS(SEANE) HE3 22,540 6,453 16,087

704 OlIE= 22,540 6,453 16,087

01 ti&= 22,540 6,453 16,087

mSSHE = UE=S
2 322,540,000 22,540 6,453 16,087
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S - BB - B9I(31) - HIRAY - BAS o1&y plE-L! HlZE2
aok==E 1t 417,831 550,954 A133,123
L= 5,100 6,000 2900
Al 412,731 544,954 N132,223
KIot== 2tel 232,641 233,531 A8
L= 5,100 6,000 2900
Al 227,541 227,531 10
=X DB RE(XIot=583H) 232,641 233,531 A8
L= 5,100 6,000 2900
Al 227,541 227,531 10
Kot=2 82t 42,841 43,731 A8
801 Gildlb] 4,513 5,403 A8
01 ZEtaidIbl 4,513 5,403 A8
m0igI] 234,513,000 4,513 5,403 2830
Xigt=2elHE >(EX) 22,000 22,000 0
L= 5,100 6,000 2900
Al 16,900 16,000 900
207 AN 22,000 22,000 0
L= 5,100 6,000 2900
Al 16,900 16,000 900
01 g2E9H| 22,000 22,000 0
mIXI5H=0| SAEH A} ZZ22,000,000& 22,000 22,000 0
L= 5,100 6,000 2900
Al 16,900 16,000 900
MRES(XIot+=SE3H) 122,431 254,664 A132,233
LI X S (XIot=SE3IH) 122,431 254,664 A132,233
SETHEAESIIZ(SEAHE) HEZ 122,431 254,664 A132,233
704 O = 122,431 254,664 A132,233
01 iE= 122,431 254,664 132,233

mSHE = UE=S

2&122,431,000& 122,431 254,664 A132,233




